I-31 M, F#o g EAE | FRCARMOMGIRTE-A >t kouT (23

M4HF E4 ek A
KmXg TZ e FE

. 32v% EHEGY 2 > 7 - P ESRo LPEMORME O IHE, ARoBE e rE -4
SPEOOTARMOENEALT IREYHS. 12T, AW O TEE - 1945 KRNz R0 MK
N2~ 4ANZHET, 28403 RT & S0, IMPMMEL 6 Moo L L TR TS~ F -BMEG K -2
oM, BamEEA Qo R b TE-) S OEORKMEERNSALL T, M=32/bLa(28-147r) (b
B Ak, TIT, b R, LR, = (LT (IT0) Lo, IoUKEHT, fkiG0 %8
2 £ A2 b, Lao, LoltBiMT, 470 REME 2 RE -1 >} T, Lo 2250/0%mt, Jp=0.810° L L £,
~5, Bl Qo REFE -4 >} 0B KEIREOEIET S B R - TR O RSB IGT DM H AL,
AeE, MMz NBigarE AL LT, EAGRIRE 750, 000, 2R s0r F I L EBEITOOT,
HEATA K. fobbR, IR 60 oBEYAU KT, b, &, FEAOT, AREAS HIX
BafE-/ctohAEtkbir, RRB-Z08FAIMIE M2 Ko HAR SO THE LT &
B, tofh BMAAS OARBFE -/ S oAhEE-30& 3%, AREMoEobyr -4t
) FRIMLoRohFE -SRI A A, LRV T FRoEHBfE-AHELT,
ToFodb gt -4 P YRR A D,

2. IMizAoe -1 =FdL5353IM2zAD 2000 1750,100Q 175010
BUSHERT 4 2N B8 2 T, HERTRITEL & « M50, 200, l I I T I

MO I ER, torw, IMMBE 7 50, 070,  FT—T T EI T
PEOEENCTS.  CPRURAIG 4 REYMM R, (ORT 4&
Lek 2~ 7700 vENYe s, Hmoli@2ge-A > L Se1500-7500
b Lol roxs0f cnbn 70/ BT LOX /05t DY RALY R, =

W mz £ -4 MLk B=L/I thoT, BE0~500
Mrgwser, HEH4, K AL >orddp ) L@

Y

Fig.l

500, 1750 _ 1000 1750 50

CTHI0ThAebY 3. 0 -4 SHAERIPE b= z %00, LT I I

10700, RWRTH 5 oo, LMoo 0HE 0T, b, ; L
B Mo /(TVETR) 4B 2% £ 0T, Hea LHERRA A S 8 0 KN I 17 1
BE-A b oRKIE TRAREESE 04Tt 755, il L L
Co b T, MEhEx Wbt S, r2 05 04BR L 4@1500=6000 J
oo, BhEESEROT, §=cxtd TEHMMIMEGAS L, Fig.2
k-Fa 3 riXA3C, do@Eyohs. kR-1~418 ~2730,
IHETR a0 6700~ /27500 5k 0 tskh B A % F) 0K MRl f £~ /
At oRAREERMIMI AL HTTC, d ERD LT HY /
R o 2 8RHK, A. o AT 0TFREET LT O35, . . /&L
M-58k-32dicilAEOT, La=2" 604y 4 \ /,/7'3\\ S/ |

Lrkg. AkrovT, Ar@EiEy, —$EcAk Tk N0 T s
X, hLtSwrtorv®B-6T753, HE-6K o
BT —ArrkdA AR WAY LT AVE Y, Fig.3

61



BRAAsEO0F b FE-/ >t oRKEet (D TKD LA,

Table 1 a=6.0m
Mce = 32VBLa (30-11T) - (2) No. | Lg c d R
1 , . . 1 [2.16 [ -.0017 ] .023 | -.79
b, aitmo Bim o, 155 M 75 Mot Ky-em/imo Rty 55, P PYETE BTE P T T R
A ed ) ke ys5y, b=/"20, Le= #2700, F=108H& |3 l4.02]-.0025] .025 ] -.96
R, D) TE M E Mad & () THSHERE Y 0% KE Y, 4 15.04)-.0029) .025)-.93
, R . . B , 5 16.48 | -.0021 | .023 | -.93
ABHTAETELOHER 08 (0/2£40.07)P IiE YRk 6 {7.381-.0022( .023[~.93
WEVBERE(L-T OB, k-5dle=6M00 r=1%¥L7, Av. -.0022 | 025 -.89
b=2M00, 2750, 370001z, F (D)L IROEMOMY,
Table 2 a=7.5m
ThK 2~ 5 REJFOIAEBENIR £, Mead F (2 TR K Yo T Ts c 3 =
W2, 3, 4, sPdiATAIEE 22, 3D, 4), 5 P4 1 |[2.16 [ -.0025| .030] -.76
. 2 |3.68]-.0017 | .024( -.76
HR1WO Mari Tt kbl TO3. 3 |5.00 | -.0009 ] .0o21 -.73
3. IRT3I KoL H-20X)RIMIA, W24 4 [6.00 | -.0008 ] .020| =.73
BB ST, g;ﬂigﬁ.&g 1750y U, P RM Mo AR, Mg 5 [7.50 ] -.0007 | .019 | -.66
Av ~.0013 | .023] -.73
Lo, MToMR 24 & -4 >} LE2OTITEMZAOHRAYIE L (2
%, ﬁ#‘fﬂlﬂhﬁzmi -4 b Lgo Mozt § Z%Q*f’imzi\@ﬁg% Table 3 a=10.0m
BB TP A00T, o= 4oxo o, 50510 cm*, 70x0°cm® @) No. 2LZ < d2 R
.16 | -.0009| .027| -.60
HER2OTHEEAT G- L. R 2o THEaBET3. 3,68 -.0016] .025] .84
FAX B 3 [5.00] -.0011] .023] -.77
. 4 [7.50] -.0010] .g21] -.72
Dk, tha R EM, EMoRWEXZE L AR CEMO — ot
Wit e -2 > Flioo 1, PHEEHMRE /977
2y @n, 44, 7k ARIHEMOFE BT L TATIA Table 4 a=12.5m
. . B . y o No. | Lg o] d
Bodrt-s - RRAR, d0t LRAREMRI L. 1 [2.16 [ -.0011] .030 | -.63
3) thia, BY, FL:° AL 103, EL, 13384, 2 [3.68(-.0016] .026 | -.68
5 REREEHORERT <& S AMo B, Bl EAEBL A, 3 15.00|-.0014 ] .024 | -.72
i o 4 16.00] ~.0022] .023 | -.75
5) BRNFT9T, pPoaor, 1975 . 5 |7.50] -.0009] .021] -.77
Av. -.0012 | .025] ~.71
Table 5
M1 2| Mkg D] Mp_ N ux_ H
b Mx,a Mx,a | Mx,a | Mx,a | Mx,a
Mx.,a =10 x
2.013.203121.17 | 1.45]1.10| .80 hir| . 420 o
(2.282)|(1.64)](2.03)|(1.54)(1.12) 0.030 ‘.\ o 2:28 -
2.503.381 01,18 1.2201.06| .76 0.025 N x 50 D
(2.621)[(1.61)[(1.67)|(1.45)[(1.04) a ‘.‘}\‘_._9_
3.013.923 [1.15]1.18 | 1.02{ .72 0.020 L 1—~5-~--.__Q_<___5.
(2.940)|(L.53)[(1.57)[(1.36) | .96) 0.015 | . ) .
0.5 1.0 1.5 r
() WEES Y tA T 5w ,
Fig.4
Mx, a
7{'- Mx ,
TYbLa a=10.0m T/bi'q Lg=2.16m
0.030 0,030
Lg=2.16m e —
0.025 =368 0.025 az——e—'&;—\:—:__\\_am_:_\': o
—Lg= T —— 7.5 e
0.020 ——Lg=7.50 _ ___ = 0.020 10.0  ———ene
12.5
0.015 L1 1 1 L 0.0150¢ o - 5
0.5 1.0 1.5 2.0 r 0.5 1.0 1.5 .0r
Fig.5 Fig.6

62




